
 

iz’u&i= dh ;kstuk  

 
d{kk & 12th  
fo"k; & d̀f"k tho foKku        
vof/k & 3 ?k.Vs 15 feuV                     iw.kkZad & 56 
 

1- mn~ns'; gsrq vadHkkj & 

Ø-l-a mn~ns'; vadHkkj izfr'kr 

1- Kku 16 28.58 

2- vocks/k  24 42.85 

3- vfHkO;fDr  10 17.86 

4- ekSfydrk 6 10.71 

;ksx 56 100.00 
 

2- iz'uksa ds izdkjokj vadHkkj & 

Ø-
la- 

iz'uksa dk izdkj iz'uksa dh 
la[;k 

vad izfr 
iz'u 

dqy vad 
izfr'kr 

izfr'kr 
iz'uksa dk 

laHkkfor  
le; 

1- oLrqfu"B 13 1 13 23.20 25 feuV 

2- vfry?kwÙkjkRed 08 1 08 14.30 25 feuV 

3- y?kwÙkjkRed  12 1-5 18 32.10 35 feuV 

4- nh?kZmRrjh; iz’u  03 3 09 16.10 50 feuV 

5- fuca/kkRed 02 4 08 14.30 60 feuV 

 ;ksx   56 100-00 195 fe0 
             

 fodYi ;kstuk % vkUrfjd iz0 la0 19 o 20 esa             

            

3- fo"k; oLrq dk vadHkkj & 

Ø-l-a fo"k; oLrq vadHkkj izfr'kr 
1- Ikkni iztuu 8 14.29 
2- tSo izkSf|fxdh 6 10.71 
3- dhV foKku 8 14.29 
4- dhV fua=.k dh fof/k;k¡ 6 10.71 
5- Ikkni jksx foKku 6 10.71 
6- Qlyksa ds jksx 6 10.71 
7- fuesVksM ¼lw=d`fe½ ,oa Lyx] Lusy 6 10.71 
8- d`f"k egRo ds izeq[k tUrqvksa dk v/;;u 6 10.71 
9- jktLFkku esa ikyus ;ksX; [kk| eNfy;ka 4 7.15 
                                                     ;ksx 100% 



iz'u&i= CY;w fizUV 
d{kk & 12th        fo"k; %& df̀"k tho foKku      iw.kkZad    & 56 
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1- Ikkni iztuu  1(1) 1(1)  1½(1)  -  -  - -   1½(2)
  

-   - -  -  1½(1) -   - -   - -      8(6)  

2- tSo izkSf|fxdh  1(1) -  -   -  - 1(1)  1(1)   1½(1)
  

 - - - - - -   -  -  -  1½(1)
  

    6(5)  

3- dhV foKku 1(1) 1(1) - - - - - - - 4(1)  1(1)  1(1) - - - - - -   8(5) 

4- dhV fu;U=.k dh fof/k;k¡  - -   -  -  -  -  -  -  - -  1(2)   1(1)  1½(1)  -  -  -  -  1½(1)
  

    6(5)  

5- Ikkni jksx foKku  -  -  1½(1)
  

 -  -  -  -  1½(1)   - -  -  -     -  -  -  -  -  1½(2)
  

    6(4)  

6- Qlyksa ds jksx  1(1)  -  -  -  -  -  -  -  - 4(1)  1(1)   - -   -  -  -  -  -      6(3) 

7- fuesVksM ¼lw=d`fe½ ,oa Lyx] Lusy -   -  -  3(1)  - 1(1)  1(1)   - - -  1(1)  -  -   -  -  -  -  -     6(4)  

8- d`f"k egRo ds izeq[k tUrqvksa dk v/;;u 1(1) 
1(1)   - 1(-)   - 1(1)  -   - 2(1)   - -  -  -   -  -  -  -  -     6(4)  

9- jktLFkku esa ikyus ;ksX; [kk| eNfy;ka  - 
 1(1)  -  -  -  -  -  - 3(1)    -  -  -  -  -  -  -  -  -     4(2)  

                                             

  
  

5(5) 4(4)  3(2)
  

4(1)    3(3)  2(2)  6(4)  5(2)  8(2)  5(5) 2(2) 3(2)       6(4)
  

      

  
  

16(12)  
  

 24(13)  
   

10(9) 
  

  6(4)   56(38)  

 

fodYiksa dh ;kstuk %& iz-la- 19 ,oa 20 esa ,d vkarfjd fodYi gSA    uksV%& dks"Bd esa ckgj dh la[;k vadksa dh rFkk Hkhrj iz'uksa dh |ksrd gSA 
               
  
                      gLrk{kj 



mPp ekè;fed ijh{kk&2023 
e‚My ç'u i= 2023 

fo"k;&—f"k tho foKku ¼38½ 
d{kk&12  

[k.M & v /SECTION – A 
 

le;%&03 ?k.Vs 15 feuV          iw.kkZad&56 
 

(1) ç'u la[;k 1 esa cgqfodYih ç'u gS ftudk lgh mÙkj viuh mÙkj iqfLrdk esa fyf[k, 
          Question no. 1 contains multiple choice questions, write the-correct answer  
            in your answer Book. 
    

ç'u&1 (i) dsUæh; rackdw vuqlaèkku laLFkku fLFkr gS%&      1 
 ¼v½ jktkeqaæh  ¼c½ ukxiqj 
 ¼l½ tksèkiqj  ¼n½ dkuiqj        

             The Central Tobacco Research Institute situated.- 
(A) Rajahmundry   (B) Jodhpur  
(C) Nagpur   (D) Kanpur 

¼ii½ ykbxst ,Utkbe dh [kkst dh&       1 
¼v½ gjcVZ cks;j  ¼c½ i‚y cxZs 
¼l½ dSjh eqfyl  ¼n½ ekÆVu xsyVZ        

    Discovered legal’s enzyme- 
(A) Herbert boyer     (B)  Paul berg 
(C) Karry mullis  (D)  Martin Grellert     

 

¼iii½  T- Mh,u, dh yxHkx eki gksrh gS &       1 
      ¼v½ 10 Kb ¼c½ 15 kb 

 ¼l½ 23 kb  ¼n½ 35 kb        
T-DNA measures approximately- 
¼aA½ 10 kb (B) 15 kb 

                     (C) 23 Kb (D) 35 kb 
¼iv½ lQsn yV dk oSKkfud uke gS&        1 

¼v½ flLVksldkZ xzhxSfj;k  ¼c½ gksyksfVªfd;k& dksUlSUxqfu;k  
¼l½ gsfydksojik vkehZtsjk  ¼n½ ,SelsDVk ewjh 

       Scientific name of white Group is - 
(A) schistocerca gregaria    (B) Holotrichia consangunea 
(C) Helicoverpa armigera  (D)Amsacta moorei 
 



 
¼v½ lQsn yV fdl x.k dk lnL; gS&        1 

¼v½ fMIVsjk   ¼c½ ysfiMksIVsjk 
¼l½ dksfyvksIVsjk   ¼n½ gkbuksesuksIVsjk 

        White Grub is a member of which order- 
(A)  Diptera   ¼B½ Lepidoptera 
¼C ½ colioptera  (D) Hymanoptera 

(vi) c#Fkh uk'kh gS&           1 
     ¼v½ MkbdksQky   ¼c½ DyksjkscsaftysV 

          ¼l½ ,ckesfDVu  ¼n½ mijksä lHkh 
  Miticides is- 

¼aA½ Dicofol  (B) Chorobenzilate 
(C) Abamectin (D) all of the above 

¼Vii½ vxksZfVTe jksx gksrk gS&         1 
¼v½ thok.kq  ¼c½ ok;jl  
¼l½ ePNj  ¼n½ dod 

     Ergotism’s disease is- 
(A)  Bacteria   (B) virus 
(C) Mosquito  (D) Fungus 

¼Viii½ lw=—fe tfur jksx gS &         1 
 ¼v½ ekSY;k    ¼c½ vxZV 
 ¼l½ dikl dk Eykfu   ¼n½ uhcw dk dSadj 

         Nematode disease is – 
¼aA½ molya •  ¼B½ Ergot 
¼C½ cotton wilts (D) citrus canker 

(ix) dsapq, esa [k.Mksa dh la[;k gksrh gS&        1 
     ¼v½ 60 ls 80 ¼c½ 80 ls 100  

         ¼l½ 100 ls 120 ¼n½ 150 ls 200 
       The number of segments of earthworm is - 

¼A a½ 60 to 80  (B) 80 to 100 
¼C½ 100 to 120  (D) 150 to 200 

 
iz0 2- fjä LFkkuksa dh iwÆr dhft, & 
      Fill in the blanks 
¼i½ [ksrksa esa xzh"edkyhu tqrkbZ ---------------- fu;a=.k ds fy, ,d çHkkoh mik; gSA   1 
     Summer plowing in fields is an effective measure for ………………….Control. 
¼ii½ lw=—fe esa ifjlapj.k ,ao ------------------------------------ iw.kZr vuqifLFkr gksrs gSaA    1 
      The circulatory and ………………….systems are completely absent in Nematode 



¼iii½ eèkqeD[kh lkekftd ,oa ----------------------------------------------- dhV gSA     1 
    Honey bee is a community and --------------------insect. 
 

¼iv½ xsgw¡ dk Hkwjk ;k i.kZ fdVV~ jksx dk jksxtud------------------------- gSA     1 
       The Pathogen of brown or leaf rust of wheat is -------------------- 
 
3- vfry?kqÙkjkRed ç'u& 
   Very Short answer type question – 
 

¼i½ frygu vuqlaèkku funs'kky; dgk¡ ij fLFkr gS\       1 
   Where is the Directorate of oilseeds research situated? 
¼ii½ drksZrd dks ifjHkkf"kr dhft,A         1 
    Define ex-plant. 
 

¼iii½ lQsn yV dk dqy fyf[k,A          1 
    Write the family of white Grub. 
 

¼iv½ lQsn yV ds v.Mksa dk Å"ek;u dky fdrus fnu dk gksrk gSA     1 
    How many days is incubation period of white grub eggs. 
 

(v) dksÃ nks vdkcZfud dhVuk'kh ds uke fyf[k,A       1 
   Write the name of any two Inorganic Insecticides. 
¼vi½ [kkjs ty ,oa eǹk esa ik;s tkus okys dksÃ nks lw=—fe;ksa ds uke fyf[k,A  1 
    Write the name of any two nematodes found in Saltish water and Soil. 
¼vii½ eknk fVìk vius v.Ms dgk¡ nsrh gS\        1 
    Where does the female Grasshopper her eggs. 
¼viii½ jksgw eNyh dk oSKkfud uke fyf[k, A        1 
     Write the scientific name of Rohu Fish. 
 

 
[k.M&c 

        Section –B 
 

y?kqÙkjkRed ç'u ¼yxHkx 50 'kCnksa esa mÙkj nsos½  
Short answer type questions (to be answered in about 50 words) 
 

Ikz0 4 ikni iqj% LFkkiu ds dksÃ rhu ykHk fyf[k,A       1½ 
     Write any three advantages of plant Introduction 
Ikz0 5 puk] cSaxu] ,ao iihrk ds çkFkfed mn~xe dsUæ fyf[k,A     1½ 
         Write the primary origin center of Gram, brinjal and papaya. 
Ikz0 6 vlqxqf.krk ds ikni çtuu esa dksÃ nks mi;ksx fyf[k,A      1½ 
     Write any two uses of Aneupolyploidy in plant breeding. 
 



iz0 7 çlqfIr ls D;k vfHkçk; gSa\          1½ 
    What do you mean by dormancy? 
iz0 8 Hkzw.k laoèkZu dk ukekafdr fp= cukb,A        1½ 
     draw a labeled diagram of embryo culture 
iz0 9 ykbiksQsD'ku fofèk dsa dksÃ rhu ykHk fyf[k,A       1½ 
          Write any three advantage of lipofection method. 
iz0 10 gS.M jksVsjh MLVj dk ukekafd fp= cukb,A       1½ 
       Draw a labeled diagram of Hand Rotary Duster. 
iz0 11 Þçdk'kik'kÞ ij laf{kIr fVIi.kh fyf[k,A        1½ 

Write short note on “Light Trap” 
iz0 12 ijthoh vkSj e`rthoh esa vUrj fyf[k,A        1½ 

Write the difference between Parasite and Saprophyte. 
iz0 13 Þikni laxjksèk ij laf{kIr fVIi.kh fyf[k,A       1½ 

Write short note on “Plant quarantine”  
iz0 14 fo"kk.kq d.k dk ukekafdr fp= cukb,A        1½ 

Draw a labeled diagram of Virion. 
iz0 15 Qlyksa esa o"kkZ _rq esa gksus okys dksÃ rhu jksxksa ds uke fyf[k,A    1½ 

Write the names of any three diseases during the rainy season in crops. 
 

[k.M&l 
SECTION-C 

nh?kZ mÙkjh; ç'u ¼'kCn lhek yxHkx 100 'kCn½ 
Long Answer questions (word limit approx 100 words).  
 
iz0 16 lfCt;ksa ds tM+ xzfUFk jksx ds *dksÃ pkj y{k.k ,oa jklk;fud çcUèku dks le>kb,A 3
  Explain any four symptoms and chemical management of root Knot Disease  

  of Vegetables. 
 

iz0 17 tksad dk oSKkfud uke o vkfFkZd egRo fyf[k,A            3 
    Write the scientific name and economic importance of leech. 
 

iz0 18- jktLFkku esa eRL; ¼eNyh½ ikyu dh lEHkkoukvksa ds ckjs esa le>kb,A         3    
   Explain about the possibilities of Fish farming in Rajasthan. 



[k.M & n 
SECTION - D 

ÇucèkkRed ç'u ¼'kCn lhek yxHkx 250 'kCn½  
Essay Question (word limit approx 250 words). 
 

iz0 19 [kijk Hk`ax dhV dk oSKkfud uke ,oa blds y{k.k fyf[k, rFkk blds thou pØ ,ao  
      çcUèku dks le>kb;sA           4 

Write the scientific name and its characteristics of the Khapra beetle insect  
and explain its lifecycle and management. 

vFkok@OR 
vukj dh frryh dhV dk oSKkfud uke ,oa blds y{k.k rFkk blds thou pØ ,oa  
çcUèku dks le>kb;sa  
Write the scientific name and its characteristics of pomegranate butterfly  
insect and explain its life cycle and management  

 

iz0 20 ljlksa dh lQsn jksyh ds y{k.k] jksxtud ,ao çcUèku dk o.kZu dhft,A   4 
 Describe the symptoms, pathogen and management of white rust of  
mustared. 

vFkok @OR 
xsgw¡ dh ihyh jksyh ds y{k.k] jksxtud ,oa çcaèku dk o.kZu dhft,A 
Describe the symptoms, Pathogen and management of yellow rust of wheat- 


